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2.539 x 100 = 3.486 x 1000 =
7372 %10 = 6.892 x 100000 =
7.399 x 100000 = 7.738 x 1000000 =
6.536 x 10 = 5872 x 10 =

7.382 x 1000 = 3.305 x 100000 =
1.463 x 10 = 2.681 x 1000 =
7.429 x 100 = 8.575 x 1000000 =
6.245 x 1000 = 10.849 x 1000000 =
9.352 x 1000 = 2.209 x 1000000 =
4.074 x 10 = 4.059 x 10 =
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2.539 x 100 = 253.9

7372 x10=73.72

7.399 x 100000 = 739900

6.536 x 10 = 65.36

7.382 x 1000 = 7382

1.463 x 10 = 14.63

7.429 x 100 = 742.9

6.245 x 1000 = 6245

9.352 x 1000 = 9352

4.074 x 10 = 40.74

=LA

3.486 x 1000 = 3486

6.892 x 100000 = 689200

7.738 x 1000000 = 7738000

5.872 x 10 = 58.72

3.305 x 100000 = 330500

2.681 x 1000 = 2681

8.575 x 1000000 = 8575000

10.849 x 1000000 = 10849000

2.209 x 1000000 = 2209000

4.059 x 10 = 40.59
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